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Which of the following can be 
written as 4a2 

 

  

A 

Answer Options 

Option A Option B Option C Option D 

  a2 + a2 + a2 + a2  

 

4a  + 4a 

 

4 x (a + a) 

 

4   +  a2  
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Which of the following is equal to 
8a? 

 

  

C 

Answer Options 

Option A Option B Option C Option D 

8 + a 

 

a x a x a x a x a x a x 
a x a 

 

a + a + a + a + a + a 
+ a + a 

 

7a + 1 
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3x - 1 + 5y + 2 is equal to 

 

  

D 

Answer Options 

Option A Option B Option C Option D 

2x + 7y 15xy + 1 8xy - 3 3x + 5y + 1 
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Rupa covers 5x 
centimetres in one step. 
How many steps must 
she take to cover a 
distance of xy metres? 
 

 
D 

 Answer 
Options 

 

Option A Option 
B 

Option C Option D 

5𝑥

2𝑦
 

y 5y 20y 
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What must be added to 10xy 
to get 6y? 

 

 

  

C 

Answer Options 

Option A Option B Option C Option D 

- 4x - 4xy 6y - 10xy It is not possible. 
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If P is a negative integer, the 
integer to its immediate left on 
the number line is 

 

 

  

A 

Answer Options 

Option A Option B Option C Option D 

P - 1 P - 2 P + 1 P + 2 
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Suppose the pth row has 3 
shaded circles.  

Of the following, which row 
will have 2 shaded circles? 

 

 

 

 

 

 

 

  

A 

Answer Options 

Option A Option B Option C Option D 

(p - 1) th (p + 2) th (p - 2) th (p + 4) th 
 

 

 

 

 

 

 

 

 

 

 

 

 

 



SET 22  MATHEMATICS    CLASS 7 

Q
.
 
N 

 

Folde
r 

name 
& 

Quest
ion 

Code 

Topic Question with 
Answer 
Options 

Imag
e  

 

(If 
Any) 

Corr
ect 
Ans
wer 
(Opti
on 

-      
A,B,C,

D 

) 

8  

 

5_29  
Mathe
matic

s 
11345 

Algebraic 
Expressions 

Chapter 12 

 

 

3x - 1 + 5y + 2 is equal to 
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 Answer 
Options 

 

Option A Option 
B 

Option C Option D 

2x + 7y 

 

15xy + 1 

 

8xy - 3 

 

3x + 5y + 1 
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Mallika and Kishore have 
the same number of 
marbles. To have 100 
marbles, they must pool 
their marbles together 
and then get 30 
more.Which equation 
represents the above 
relationship? 

 

 
D 

 Answer 
Options 

 

Option A Option 
B 

Option C Option D 

60x = 100 

 

30x= 100 

 

30 + x= 100 

 

30 + 2x = 100 
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The difference between (-7)2 and -(7)2 

 

 A 

 Answer Options  
Option A Option B Option C Option D 

98 28 0 -28 
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Which word should be 
inserted in the blank so that 
the following statement is 
ALWAYS true? The 
____________ of two 
numbers is 0 if any one of 
the numbers is 0. 

 

 

 D 

 Answer Options  
Option A Option B Option C Option D 
quotient difference sum product 
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What will be the one's digit in 
the product 
5 x 5 x 5 x 5 x 5 x 5 x 5 x 5 x 5 x 2? 

 A 

Answer Options 

Option A Option B Option C Option D 

0 2 5 7 
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The value of   34   is  

 

  

B 

Answer Options 

Option A Option B Option C Option D 

12 92 62 33 
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Which of the following is the 
same as 3a2? 

 C 

Answer Options 

Option A Option B Option C Option D 

3a + 3a 3 + a2 a2 + 2a2 a2 x 2a2 
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The value of  23 – (-2)2 – 
21 – (-2)0  is  

 

 

  

 

B 

Answer Options 

Option A Option B Option C Option D 

0 1 2 10 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


